## An Easier Way to Quote

Save time, skip the email, and streamline your ordering process!

• When you're ready to order, log Into Titlewave and select Saved Quotes from the Your Account menu.

- Open your quote and click Complete Your Order just have your PO number or payment card handy.
- You'll receive an email confirmation that your quote has been submitted and we've received your order.

Follett
Follett Content Solutions, LLC
1340 Ridgeview Drive
McHenry, IL 60050

Date: 10/06/2025

X

Quote Number: 11843168

Customer Number: 1277855

Prices Guaranteed Through: 12/04/2025

## Send Payment to: Follett Content Solutions, LLC

PO Box 7410597 Chicago, IL 60674-0597

Phone: 888.511.5114

Email: orders@follettcontent.com

For: CHIPPEWA SCH (#1277855)

Bill to Address 12425 S AUSTIN AVE PALOS HEIGHTS, IL 60463

Ship to Address 12425 S AUSTIN AVE PALOS HEIGHTS, IL 60463

**Created by:** Amanda Buresh **Email:** mburesh@palos128.org

**List Number:** 299568189 **List Name:** 25-26 Chip

The pricing in this quote is based on the information you provided and is guaranteed through 12/04/2025. Any changes to the quote, including but not limited to title selection, processing, shipping and handling fees, sales tax, or additional products and services, may result in adjusted costs.

For details on cataloging or processing options offered by Follett Content Solutions, LLC, call customer service at 888.511.5114.

## **Order Summary**

82 Items

\$1,585.91

Book Processing:

\$105.78

Subtotal:

\$1,691.69

Shipping:

FREE

Free shipping and handling on books and audiovisual materials within the United States and its territories. Shipping and brokerage are free to Canada.

Total:

\$1,691.69

## **Books**

71 items				
Item •	!	Price	Qty.	Total
Area 51 (Pogo Books: Do You Believe?) by Deniston, Natalle (#2548TE9)	_	\$22.54	1	\$22.54
Hardcover (library binding) — Pogo Books are published by Jump!, 2025				
The Baby-sitters club. 17, Mallory and the trouble with twins (Baby-Sitters Club, Book 17) by Nopra, Arley (#2174EG9)	3-3	\$22.37	2	\$44.74
FollettBound Glued — Graphix, an imprint of Scholastic, 2025				
The Baby-sitters Club. 9, Claudia and the new girl (Baby-Sitters Club, Book 9) by Epstein, Gabriela (#1912ZC6)	-	\$22.37	1	\$22.37
FollettBound Glued — Graphix, an imprint of Scholastic, 2021				

tem	ı	Price	Qty.	Total
Baby-sitters little sister. 10,Karen's prize (Baby-Sitters Little Sister, Book 10) by Grant, Shauna J (#2173YG8) FollettBound Glued — Graphix, an imprint of Scholastic, 2025	-	\$22.37	2	\$44.74
Baby-sitters little sister. 11,Karen's ghost (Baby-Sitters Little Sister, Book 11) by Yingst, DK (#2174BG7) FollettBound Glued — Graphix, an imprint of Scholastic, 2025	=	\$22.37	2	\$44.74
Baby-sitters little sister. 8,Karen's sleepover (Baby-Sitters Little Sister, Book 8) by Farina, Katy (#2804KD1) FollettBound Glued — Graphix, an imprint of Scholastic, 2024		\$22.37	2	\$44.74
Baby-sitters little sister. 9,Karen's grandmothers (Baby-Sitters Little Sister, Book 9) by Yingst, DK (#2013TF6) FollettBound Glued — Graphix, an imprint of Scholastic, 2024	=	\$22.37	2	\$44.74
Bathe the cat by McGinty, Alice B (#2726CB6) FollettBound Sewn — Chronicle Books, 2021	-	\$24.42	1	\$24.42
Battle royale (Who Would Win? Bindup) by Pallotta, Jerry (#1499BJ4) Hardcover — Scholastic, 2018	=	\$9.99	1	\$9.99
Beneath by Doerrfeld, Cori (#2405ZE7) FollettBound Sewn — Little, Brown and Company, 2023	=	\$23.70	1	\$23.70
Bermuda Triangle (Pogo Books: Do You Believe?) by Deniston, Natalie (#2548UE6) Hardcover (library binding) — Pogo Books are published by Jumpl, 2025	-	\$22.54	1	\$22.54
Big shot (Diary of a Wimpy Kid, Book 16) by Kinney, Jeff (#1944HR7) Hardcover — Amulet Books, 2021	175	\$14.95	1	\$14.9
Bigfoot (Pogo Books: Do You Believe?) by Deniston, Natalie (#2548VE3) Hardcover (library binding) — Pogo Books are published by Jump!, 2025	-	\$22.54	1	\$22.5
Caitlin Clark: basketball superstar (PrimeTime: Basketball Superstars) by Hewson, Anthony K (#2517EF5) Hardcover (library binding) — Press Box Books, an imprint of Press Room Editions, 2025	-	\$29.17	1	\$29.17
Car technology (Milestones in Technology) by Bow, James (#2035FC3)  Hardcover (library binding) — The Child's World, 2024	-	\$25.00	1	\$25.00
Claude : the true story of a white alligator by Smith, Emma Bland (#1793KBX) Hardcover — Little Bigfoot, an imprint of Sasquatch Books, 2020	-	\$18.67	1	\$18.6
Coyote vs. dingo (Who Would Win?) by Paliotta, Jerry (#1628JU7) FollettBound Sewn — Scholastic Inc., 2023	-	\$15.31	1	\$15.3
Cute animals that could kill you dead by Hartman, Brooke (#2979DF1) Hardcover — Sourcebooks Explore, 2025	-	\$14.95	1	\$14.9
Don't let the pigeon drive the bus! (Pigeon) by Willems, Mo (#33716V7) FollettBound Sewn — Hyperion Books for Children, 2003	=	\$23.70	1	\$23.70
The duckling gets a cookie!? (Pigeon) by Willems, Mo (#0360CT1)  Hardcover — Hyperion Books for Children, 2012	=	\$17.74	1	\$17.7
The eruption of Mount St. Helens, 1980 (I Survived, Book 14) by Tarshis, Lauren (#1064UC9) FollettBound Sewn — Scholastic Inc., 2016	-	\$16.03	1	\$16.0
Extreme animal rumble by Pallotta, Jerry (#1728JP0) Hardcover — Scholastic, 2021	2-	\$9.99	1	\$9.9
Fiercest feuds by Pallotta, Jerry (#1763TX9)  Hardcover — Scholastic., 2022	-	\$10.99	1	\$10.9
The flower garden by Kurilla, Renee (#1705YV9) Hardcover — Amulet Books, 2022	-	\$12.99	1	\$12.9

ltem		!	Price	Qty.	Total
Hamsters make terrible roommates by Klein, Cheryl B (#2726NB6) FollettBound Sewn — Dial Books for Young Readers, 2022	•	-0	\$24.42	1	\$24.42
Home is calling: the journey of the monarch butterfly by Pryor, Katherine (#2558NB6) Hardcover — WorthyKids, 2023		-	\$18.67	1	\$18.67
Homegrown by Wiley, DeAnn (#2814PD3) Hardcover — Henry Holt and Company, 2024		=	\$18.67	1	\$18.67
survived the Black death, 1348 (I Survived, Book 24) by Tarshis, Lauren (#2013SF9) FollettBound Glued — Scholastic Inc., 2024		-	\$16.94	1	\$16.94
I survived the Black death, 1348 (I Survived, Book 24) by Tarshis, Lauren (#2013SF9) FollettBound Glued — Scholastic Inc., 2024		=	\$16.94	1	\$16.94
InvestiGators. Class action (InvestiGators, Book 8) by Green, John Patrick (#2040RE0) Hardcover — First Second, 2024		=	\$12.99	1	\$12.99
The Joplin tornado, 2011 (I Survived, Book 12) by Tarshis, Lauren (#0970UV1) FollettBound Glued — Scholastic Inc., 2015		=	\$16.03	1	\$16.03
Just snow already! by McWilliam, Howard (#2380BF8) FollettBound Sewn — Flashlight Press, 2023		-	\$23.68	1	\$23.68
Kid-ventors: 35 real kids and their amazing inventions by Pew, Kailei (#2817JD9) Hardcover — Feiwel and Friends, 2024		==	\$19.60	1	\$19.60
Knight Owl Book Set [2-item set] (#A700513)					
Knight Owl (Knight Owl) by Denise, Christopher (#1608MW4) Hardcover — Little, Brown and Company, 2022		-	\$17.74	1	\$17.74
Knight Owl and Early Bird (Knight Owl) by Denise, Christopher (#2615VE2) Hardcover — Little, Brown and Company, 2024	ĸ	-	\$18.67	1	\$18.67
Lefty: a story that is not all right by Willems, Mo (#2090LF2) Hardcover — Union Square Kids, 2024			\$18.67	1	\$18.67
Life in the U.S. Air Force (Daily Life in the U.S. Military) by Barrett, Mo (#2918WE2) Hardcover (library binding) — Pebble, a Capstone imprint, 2025		=	\$22.54	1	\$22.54
Life in the U.S. Army (Daily Life in the U.S. Military) by Barrett, Mo (#2918YE7)  Hardcover (library binding) — Pebble, a Capstone imprint, 2025		2=2	\$22.54	1	\$22.54
Life in the U.S. Coast Guard (Daily Life in the U.S. Military) by Bolte, Mari (#2918TE0) Hardcover (library binding) — Pebble, a Capstone imprint, 2025		-	\$22.54	1	\$22.54
Life in the U.S. Marine Corps (Daily Life in the U.S. Military) by Bolte, Mari (#2918UE8) Hardcover (library binding) — Pebble, a Capstone imprint, 2025		_	\$22.54	1	\$22.54
Life in the U.S. National Guard (Daily Life in the U.S. Military) by Barrett, Mo (#2918ZE4)  Hardcover (library binding) — Pebble, a Capstone imprint, 2025		=	\$22.54	1	\$22.54
Life in the U.S. Navy (Daily Life in the U.S. Military) by Bolte, Mari (#2918VE5)  Hardcover (Ilbrary binding) — Pebble, a Capstone imprint, 2025		=	\$22.54	1	\$22.54
Loch Ness monster (Pogo Books: Do You Believe?) by Deniston, Natalie (#2548WE0)  Hardcover (Ilbrary binding) — Pogo Books are published by Jump!, 2025		-	\$22.54	1	\$22.5
Miss Nelson has a field day (Miss Nelson, Book 3) by Allard, Harry (#35698V6)		_	\$19.09	1	\$19.0

¥.

Item	1	Price	Qty.	Total
Miss Nelson is back (Miss Nelson, Book 2) by Allard, Harry (#37248V1) FollettBound Sewn — Houghton Mifflin, 1982	-	\$19.09	1	\$19.09
Miss Nelson is missing! (Miss Nelson, Book 1) by Allard, Harry (#32648V0) FollettBound Sewn — Houghton Mifflin, 1977	-	\$19.09	1	\$19.09
Negative cat by Blackall, Sophie (#2726SB2) FollettBound Sewn — Nancy Paulsen Books, 2021	-	\$23.70	1	\$23.70
No brainer (Diary of a Wimpy Kid, Book 18) by Kinney, Jeff (#2220TC7)  Hardcover — Amulet Books, 2023	-	\$14.95	1	\$14.95
The pigeon has to go to school! (Pigeon) by Willems, Mo (#1446KS7)  Hardcover — Hyperion Books for Children, 2019	-	\$17.74	1	\$17.74
The pigeon needs a bath! (Pigeon) by Willems, Mo (#0890CM3)  Hardcover — Hyperion Books for Children, an imprint of Disney Book Group, 2014	<u> </u>	\$17.74	1	\$17.74
The pigeon wants a puppy! (Pigeon) by Willems, Mo (#15761V4) Hardcover — Hyperion Books for Children, 2008	ш	\$17.74	1	\$17.74
Ramadan and Eid Al-Fitr (History of Holidays and Festivals) by Crawford, Bev (#2295TD5)  Hardcover (library binding) — Core Library, an imprint of Abdo Publishing, 2024	-	\$26.00	1	\$26.00
The red jacket by Holt, Bob (#2931SB5)  Hardcover — Harper, an imprint of HarperCollinsPublishers, 2023	=	\$19.60	1	\$19.60
The sinking of the Titanic, 1912 (I Survived, Book 1) by Tarshis, Lauren (#39818M0) FollettBound Glued — Scholastic, Inc., 2010	-	\$15.13	1	\$15.13
Sydney & Taylor explore the whole wide world (Sydney and Taylor) by Davies, Jacqueline (#1767PPX) FollettBound Sewn — Houghton Mifflin Harcourt, 2021	_	\$16.54	1	\$16.54
Thunder and Cluck. Friends do not eat friends (Ready-to-Read Graphics: Level 1-Thunder and Cluck) by Esbaum, Jill (#1840RQ1) FollettBound Sewn — Simon Spotlight, 2021	=	\$16.54	1	\$16.54
Time to make art by Mack, Jeff (#2814ZD6) Hardcover — Henry Holt and Company, 2024	=	\$19.60	1	\$19.60
Troubling tonsils! (Jasper Rabbit Creepy Tales) by Reynolds, Aaron (#2262QH0)  Hardcover — Simon & Schuster Books for Young Readers, 2025	-	\$13,99	1	\$13.99
The ugly truth (Diary of a Wimpy Kid, Book 5) by Kinney, Jeff (#1443VV2)  Hardcover — Amulet Books, 2010	-	\$14.95	1	\$14.95
Ultimate Pterosaur rumble (Who Would Win?) by Pallotta, Jerry (#2015VF3) FollettBound Sewn — Scholastic Inc., 2025	=	\$16.25	1	\$16.25
Ultimate small shark rumble (Who Would Win?) by Pallotta, Jerry (#2273EC4)  FollettBound Glued — Scholastic Inc., 2023	-	\$16.25	1	\$16.2
Underwater battles by Pallotta, Jerry (#2784NH5)  Hardcover — Scholastic, 2025	=	\$10.99	1	\$10.99
We are definitely human by Fang, X (#2463RH3)  FollettBound Sewn — Tundra Books, an imprint of Tundra Book Group, a division of Penguin Random House of Canada Limited, 2024	-	\$23.70	1	\$23.70
Weird but true! Space: 300 out-of-this-world facts. (Weird But True!-Topics) (#2278VG2)		\$19.09	2	\$38.18

1	Price	Qty.	Total
	\$19.09	2	\$38.18
=	\$18.67	2	\$37.34
775	\$18.24	2	\$36.48
=	\$18.67	2	\$37.34
	\$24.40	1	\$24.40
æ!	\$18.67	1	\$18.67
-	\$14.95	1	\$14.95
=	\$19.60	1	\$19.60
1	-	- \$19.09 - \$18.67 - \$18.67 - \$18.67 - \$24.40 - \$18.67 - \$14.95	- \$19.09 2 - \$18.67 2 - \$18.67 2 - \$18.67 2 - \$24.40 1 - \$18.67 1 - \$14.95 1

82 Books: \$1,585.91

Book Processing: \$105.78

Subtotal: \$1,691.69

Shipping: FREE

Total: \$1,691.69

Return Policy: Library book and/or content orders that have been subject to any customized processing – either prior to shipment or after receipt by the customer – are not eligible for return or cancellation. This excludes material processing errors solely attributable to Follett. Customized processing shall include, but is not limited to, stamping, label application, and barcoding, and is determined by Follett in its sole discretion. Textbook orders of any kind are not returnable.